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Data Sufficiency &aro% DoTRS

Note:In the following 20 questions each question 1s followed by data in the form of two statements labeled
as I and II. You must decide whether the data given in the statements are sufficient to answer the
questions. Using the data make an appropriate choice from (1) to (4) as per the following guidelines:

a) Mark choice (1) if the statement I alone is sufficient to answer the question.

b) Mark choice (2) if the statement II alone 1s sufficient to answer the question.

¢) Mark choice (3) if both the statements I and II are sufficient to answer the question but neither
statement alone 1s sufficient.

d) Mark (4) if both the statements I and II together are not sufficient to answer the question and
additional data is required.
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Sub questions

Question Number : 1 Question Id : 6116303555 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Is the positive integer n odd?
3 Yrgrogo n EATS) R087°(?
I.  2niseven.
2n 28 ;‘boaa?g
II. nntl)=6

Options:
1.1

k-2
-2

oW
J= 0 wa

Question Number : 2 Question Id : 6116303556 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Is X an integer?
X Wosm?

I.  5x is a positive integer.
5X A& T&;J_j"g"oéo
I 1Ox=1

Options:
1.1

k-2
-2

o
J= L

Question Number : 3 Question Id : 6116303557 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

3tsat

S0 ok
3" = 2" eosychooe?

. k=nt+l
II. nisapositive integer
n & Qjﬁg“oéo
Options:
11
33
4.4

Question Number : 4 Question Id : 6116303558 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If x 1s a positive integer, is the HCF of 150 and x a prime number?
X &5 Lrgrogo eand, 4.2, {150,x) D5ed D0 HAT?
[. X isaprime number.
X DT°R V0.
II. x<4

Options:
1.1

-2
-2

B W
J= L

Question Number : 5 Question Id : 6116303559 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



If n and m are real numbers. isn<m ?
TR0 "n}oa}é e n, m %, n < M 9o ?
I n<mf

II. |m|<]|n]

Options:
1.1

o]
L2

Rl
J= L

Question Number : 6 Question Id : 6116303560 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Is the integer n divisible by 45?
45 & Prgrogo N erfedrdeT ?

[.  nisamultiple of 36
36 ados), Mdedao n

[I.  The units digitinnis 0

n &' wse) Fdo & 0 Hod

Options:

-2
-2

B W
J= L

Question Number : 7 Question Id : 6116303561 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Is the integer n a prime?
@gﬂoén n DT°R "ﬂaoajﬂé?

I 4>=n
II.  § Bl
Options:
11
3.3
4.4

Question Number : 8 Question Id : 6116303562 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Is the positive integer n even?
A f@gﬂoéo n “a&*&:oa?5?
4.
I. n isodd
4
n 5333&:03.}:.-5
5
II. 2n 1seven
5
2n” 26 ::103;35

Options:
1.1

k-2
L2

o
[ R W

Question Number : 9 Question Id : 6116303563 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is the cost of laying an outside road all around the circular field?
DTSR 00 kI DD et HANTEAS Jodh G DB ?

I. The breadth of the road is 5 m.

e ?‘::c‘ie.ub 5 9.

II.  The diameter of the field is 500m and the cost of laying the road is Rs. 40 per sq.m
Teo a3r), a0 500 ., erey HAHEEIS BE K. 40/ ..

Options:
1.1

L2
-2

oW
[ R W

Question Number : 10 Question Id : 6116303564 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

0<0<90°—= Tan © =?

I. ©isanangle in a triangle.
w8 A28 &°D Seo O

: V3
II. SIN O = 7
Options:
1.1
3.3

4.4



Question Number : 11 Question Id : 6116303565 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Is the integer p a prime number?
T’Q}g’oéo P R :’aoz;rls?

[.  2p has exactly 3 factors
2p 3 28 3 erasien Gotran

II. pisaneven number

p 28 28 "aaoa::'g

Options:
1.1

Question Number : 12 Question Id : 6116303566 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Is [15—m|+/ m— 15| > 157
115 —m| +H m— 15| > 15 esadyehootse?

E m?>6
H m< 7
Options:
1.1
3.3
4 4

Question Number : 13 Question Id : 6116303567 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

For a positive real number x. is X° = 1252
28 G T°VD “foca:?g X 2, X =125 e9s )0 ?

. x=4
II. X=<<6
Options:
1.1
2.3
3.3
4 4

Question Number : 14 Question Id : 6116303568 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



What 1s the area of the rectangle ABCD?
&G SS06250 ABCD a3ng); 27700 Joh?
I.  The circumference of the rectangle is 24 cm.
BGSS6R) ot Foeh 24 0.2
[I.  The sides of the rectangle are in the ratio 1 : 2
EGSSBRD Fhwdwen 1: 2 S’ &xmyow

Options:
1.1

B w1
[ I T 1

Question Number : 15 Question Id : 6116303569 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

‘What 1s the cost of each table?
S 5 e85 &8 Doeh?

I. 2 tables and 2 chairs cost Rs 10.000/-
2 éf:&ueSQ 2 S}ﬁbm &6 6.10,000

M. 3 ﬁjrf}t\be.u 3 e3&1:14’5:} &8 6o 15,000/ -

3 chairs and 3 tables cost Rs 15.000/-

Options:
1.1

B s
O I T A |

Question Number : 16 Question Id : 6116303570 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is the two digit number xy?
GocloSe) oY XY 2)0eh?

[.  xyisamultiple of 97
97 £ xy tedaadn

I. x+y=6

Options:
1.1

B W
[ U T



Question Number : 17 Question Id : 6116303571 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

TA and TB are tangents to a circle from an external point T. What is the length of the chord

AB?

TA. TB en 28 9yzrd3 ey Do) T Ao NG,y Savew. 3,8 2> AB cﬁnﬁs D EDoH?
I.  Radius of the circle is 6 cm
By T§Frgo 6 0.2
II. AT=8cm

Options:

1.

-2

Rl

1

-2

J= L

Question Number : 18 Question Id : 6116303572 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is the sum of the two integers a and b?
Gocd QYrgrosten a, b © ddo 0eH?
I LCMof{a,b}=576
&.9°.t0 {a.b}=576
II. HCF {a.b}=4
B2 {a.b} =4

Options:

1.

o]

Q
Si

i

1

L2

J= L

uestion Number : 19 Question Id : 6116303573 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
ngle Line Question Option : No Option Orientation : Vertical

‘What 1s the value of 67
O e doeh?

. [tan© S s
[. The matn}{[t 1 ]15 singular

1

[talll - ﬂ w8 I TG A
L 0<6<m/2
Options:
11
33



4.4

Question Number : 20 Question Id : 6116303574 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

For three non empty sets A, B and C. what is n(AuBuC)?

. n(AuB)=64
0. nBUC)=124

Options:
1.1

o]
L2

Rl
J= L

Question Id : 6116303575 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (21 to 30)
Question Label : Comprehension

Problem Solving 22035 J¢5
Sequences and Series @XogdIren, Fravew

Note: In each of the Following 10 questions a sequence of numbers or letters that
follow a definite pattern 1s given. Each question has a blank space. This has to be filled
by the correct answer from the four given options to complete the sequence without
breaking the pattern.

Arsd: S0 AOND 10 HF) 05 9B IS BDND Dowgen T BETRD 2D wE
S2RGD DAHAFY) RO 0. VB 23S a9 ADND TR DAyE
Ao D0 0 &aTrEA) ;}.mlg)r:. IRADESD AoDATISE  Poffo Seniitior®
LFBod).

Sub questions

Question Number : 21 Question Id : 6116303576 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

(5,14) : ( 25,196) :: : (81.49)

Options:

L (3.7)

, 21.7)



3 (7.9)

, (9.7)

Question Number : 22 Question Id : 6116303577 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

625 21296 : 6
Options:

1.8

o]
oy

il
h

Question Number : 23 Question Id : 6116303578 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

122 ;290 :;: 442

Options:
. 197

-
!

0

fad

Question Number : 24 Question Id : 6116303579 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

20736 : 144 :: : 288

Options:

1. 712844

, 82944

5 82844



4 72944

Question Number : 25 Question Id : 6116303580 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

WU :FD 7 ZX
Options:

1 RP

RS

L2

; SR

4+ PR

Question Number : 26 Question Id : 6116303581 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

X2 DA X0 AR X A4
Options:

| X -6X°+12X-8

X -6X7-12X+8

]

X7 +6X+H12X+8

Ll

s X° +6X%-12X-8

Question Number : 27 Question Id : 6116303582 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

5426 V32 18+ 2477 -
Options:

VITHT
T A7
L7

L-2

Lad

s V117
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Question Number : 28 Question Id : 6116303583 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

(7% 1086 s (X1 =13

Options:

16

Lad
-3

Question Number : 29 Question Id : 6116303584 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

[§ e
= 5

A= Sl

B

1 5

Question Number : 30 Question Id : 6116303585 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

(11,12):265 = 313
Options:

(12,11)

(13.11)

L2

(14, 10)



Question Number : 31 Question Id : 6116303586 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In the Following questions pick the odd thing out.
800 AND 0B) 0" VO T DYoo

Options:

| 2XC +3XC-5X+6 =0

L 3X° H2XH5X-6=0

; 2X° +4X°-6X+8 =0

5X° -8XH6X-7T=0

Question Number : 32 Question Id : 6116303587 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In the Following questions pick the odd thing out.

8068 AND DB S DO F'IS (DYoo

Options:

| 119

129

L2

Question Number : 33 Question Id : 6116303588 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
In the Following questions pick the odd thing out.

806 BND VB OS DO FAS DYoL |

Options:



[11

T = S

A5
-y
5 "o

Question Number : 34 Question Id : 6116303589 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In the Following questions pick the odd thing out.
306 AND DB 0S5 DO TIS (HYoridw
Options:

L (3. 4.5

(4,3.6)

L)

. (5.6,7)

,(6,7.9

Question Number : 35 Question Id : 6116303590 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In the Following questions pick the odd thing out.
3068 AND DB S DO TS (HYorswdw

Options:

, 496

&
k2
(o a]

; 96

, 496



Question Number : 36 Question Id : 6116303591 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note: The following questions follow a definite pattern. Observe the same and
fill m the blanks with suitable answers.

K DE: S0B AN DB 28 PDNBIoND DoDHIEDY BT 0w, &
DoDAPDY ABVoD HOADA DAPTTOS ePPOD DPBoSod.
1297, 626,257,  17,2.

Options:

. 96

S

)
-2

Question Number : 37 Question Id : 6116303592 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note: The following questions follow a definite pattern. Observe the same and
fill m the blanks with suitable answers.

e DE: ISR OB 28 DDBRaND DoDHIEYY BT 0w, &
DoDAFDY ABOVD HOADHA DAPTTOS a0 DPOoIR.
4. 18, 48, . 180, 294,

Options:

| 98

99

k-2

, 100

4 108

Question Number : 38 Question Id : 6116303593 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Note: The following questions follow a definite pattern. Observe the same and
fill m the blanks with suitable answers.

HODE: S0 @Q)a‘: D¥en 28 PANBAD JahArdy FOPT)ow. e
DoHBPD (VoD HOCDHD VIFTTOE TP Qrdotsol.

Z1A, YAC, X9E, V251

Options:

| WOG

- WI2G

L-2

W16G

Lad

W24G

I

Question Number : 39 Question Id : 6116303594 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note: The following questions follow a definite pattern. Observe the same and
fill m the blanks with suitable answers.

e DE: SEIARTANS OB 28 DDBHoND DoDOEYY BT 0w, &
DODATDY (Do) HOCDHA DATFTTOS Yo Qrdowod.

10, 12, 15, .24, 30

Options:

17

15

]

Question Number : 40 Question Id : 6116303595 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note: The following questions follow a definite pattern. Observe the same and
fill m the blanks with suitable answers.

HODE: S0 @Q)a‘: D¥en 28 PANBAD JahArdy FOPT)ow. e
DoDHBPDY (VoD LOCDHD VIFTTVE TP Prdotsol.

0, 6,20, 72110
Options:



, 30
500
4 50

Question Number : 41 Question Id : 6116303596 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note: The following questions follow a definite pattern. Observe the same and
fill m the blanks with suitable answers.

Ha0DE: S0t @Q)b OF e 28 HONSBARD Dahordy {ﬂ“é}‘@;aﬂl&n es
DoDHBP (VoD LOCDHD VIFTTOVE TP Qrdotsol.
1/ i L
247720 ——
Options:
1
1. 1440
1
7 3600
1
3 5040
1
4 40320

Question Number : 42 Question Id : 6116303597 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note: The following questions follow a definite pattern. Observe the same and
fill in the blanks with suitable answers.

H0DE: S0t BND Py 28 PDNSIOND DoLEFDY FBRTYaw. &
DoAY (Do) HOODA PATFETTOS erPeRd Qrdowod.
3,10,29.66, 218
Options:
142

l

5 L&Y



Question Number : 43 Question Id : 6116303598 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note: The following questions follow a definite pattern. Observe the same and
fill m the blanks with suitable answers.

H0DE: S0 @C)’)é D¥)en 28 PDNSBAD JaDArDY FOPTYow. e
DoAY (Do) HOODM PATFTTOS erPeRd Qrdood.

20. 16%. 14%. 12%.

, 10

Options:

10=
1 7

11

]

[—
-J
=] |

ot
T

Question Number : 44 Question Id : 6116303599 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note: The following questions follow a definite pattern. Observe the same and
fill m the blanks with suitable answers.

H0DE: SoB NN HHew 28 PDNBAND DADEFDY FOPT ow. e
DoAY (Do) HOODM PATFTTOS erPeRd Qrdowod.
3,39 17, I

Options:

| 49

23

ad
)



Question Number : 45 Question Id : 6116303600 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note: The following questions follow a definite pattern. Observe the same and
fill m the blanks with suitable answers.

K DE: S0B AN DB 28 PDNBIoND DoDHIEDY BT 0w, &
DoDAFDY ABIVoD HOADA HDATFTTOS PO DTB0H0E.

MNPT. JKMQ. GHIN. ABDH
Options:

. DGKE

DKGE

L-2

, DEKG

; DEGK

Question Id : 6116303601 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 48)
Question Label : Comprehension



Data Analysis &gros D3

The followmg table shows the production of different types of two wheelers from 1993 to
1998. Study the table carefully and answer the Following questions

Sobd be&s 1993 ooc. 1998 o6& GSG 000 DG CEAVV BLDE DIV

SeVYB0B. & DHEN BT BEEDD0 B o BD)S DF) VL BTLVOIL TeoOd

No of two wheelers 1n lakhs (&5@5@@@&3}&) Qo8 &Jﬁ.e; )

year
Tﬂc&ﬁé;)cﬁa
— 1993 1994 1995 1996 1997 1998
Type
LA |
A 36 34 40 35 37.5 40
B 20 22 25 23 19.5 18
( 14 22 16 25 29 35
D 60 62 67.5 75 76 80
E 40 45 48 S0 80 105
F 45 52 55 60 57.5 56
Sub questions

Question Number : 46 Question Id : 6116303602 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What 1s the maximum difference in the production of any two tvpes of two wheelers for the
years 1997 and 19987
1997 0605 1998 Dodeh 6w  Goth E8H0e BNE TPardine &) &G &'

(5833 £3¢50 oh?
Options:

. 143.50.000
, 147.50,000

1148.75,000

Lid
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, 149.25.000

Question Number : 47 Question Id : 6116303603 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The approximate percentage increase in the total production of all types of two wheelers in
1997 in comparison to 1995 was

1995 & ﬁﬁa;):azabm 1997 &° 20y sgdwe B TEPHDVL &SNS do DHHS

F°ho Ea‘g’oﬂcf@m
Options:
2
16 -
l. 3

ig>
5

L2

e
-2
-2
| ea

Question Number : 48 Question Id : 6116303604 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

How many types of two wheelers have shown a continuous growth in the production for the
given period?
68 570 HEHRS” ) G5BV AHSE TETIHVL ESHSS” IGoSERD BB

06T 00?
Options:

11

e
tad

Question Id : 6116303605 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (49 to 53)



Question Label : Comprehension

The p1e diagram given here shows the distributions of students mn six schools A, B. C. DE
and F in a town. Answer Thefollowing questions based on it

QG CE AN P DO 28 DS et FoToen A, B, C, D, E dvdaiw F o'
Dmﬂégm DR BeiNncod HAD esTGorr B3R £old 30 D) VO DAFTEDO
Traidocs

STUDENTS DISTRIBUTION

Sub questions
Question Number : 49 Question Id : 6116303606 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the number of students in all the schools of the town is 5400 in a year then the number of
the students in school E is

8 DoSSBoS” ) FFTULSE'D Iorjhe Ao voy 5400 wond FsTeo E &'
Dw}sgao 2030y
Options:

. 360

420

k-2

, 630

. 720

Question Number : 50 Question Id : 6116303607 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



In a year the total number of students in schools C and B together 1s 1800 then the number
of students in the school D that year is

28 28 VoBB G0 C 080w B FrsTroed’d ando dorjhe vowy 1800 wand ,
RodS oS FrdTw D &' DegEoe Doy

Options:

| 420

480

S

Question Number : 51 Question Id : 6116303608 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the difference in the number of students mm B and Cin an year is 250. then the total
number of students in that year all the schools in the town is

08 "foo;f}ej:)éoeﬁﬁ B &u8ain C Jrdwreees' 2):5*5%3&) “aom5665 85630 250 e90008 es
DYES' ) FETOS W & VoSG BoS'D Ao ergie Voay

Options:

| 6300

.

]
-2
=
=

8100

Lad

9000

e

Question Number : 52 Question Id : 6116303609 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the school A has 350 students in a year then the number of students in the school E (in
thousands) in that year is

208 20DHSBHANS” ETw A & 350 L0d Do(Ben ol FETR E & DodHS G0’

QT B0 Doy ( 205°)

Options:

| 0.48



L2
i
e
wn

Question Number : 53 Question Id : 6116303610 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In which schools in an year the number of students in B and C together is double the
number of students

20 “’ﬁao.;ﬁejgdoeﬁﬁ D T D Dw}sg::e.: oy B &wdain C TS D 3.1{::“5%39) oy
G&o
Options:

| A&B

A&E

L2

A&F

C

Question Id : 6116303611 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (54 to 55)
Question Label : Comprehension



A Survey 1s conducted i 400 persons with regard to the readership of three national dailies
E .D and T revealed the tollowing information:

170 read E. 170 read D. 190 read T. 50 read E and D. 70 read D and T. 60 read E and T, 30

Read none and 20 read all the three papers
Draw a Venn diagram for this data and answer the following questions

20D B3O E .D 0800 T o0& 56D 400 008 HE0E Roe0B0Dd 28 D3¢’
& od DAFTGo BDADLIDN0B.

170 008 EQ , 170 2008 D ., 190 2008 T D, 50 00d E &06ai0 D D, 70 ved D
2008030 T D, 60 2006 E 208030 T D 36 |, 30 2008 BID 385K 08050 20 00
Q0P HEVNTPED

& DOETTPY) GDATHOD 208 DO DEPJY A $oib BIYS DI) VL BTV TG

Sub questions

Question Number : 54 Question Id : 6116303612 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

How many read either D only or T only?
D Q &5r¢gtad S T Q &5rghad ST DdHEd?

Options:

1.

L2

200

170

150

Question Number : 55 Question Id : 6116303613 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

How many read only E?

E D &rdho QDT E dotddd?

Options:

1.

-2

60

70

80



90

Question Id : 6116303614 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (56 to 60)
Question Label : Comprehension

Coding and Decoding Problems &&08, A8A0h B0

In a code, vowels of English alphabets are coded to o, B. v, 0. 1 respectively which each of
the consonant 1s coded to the third successive consonant cyclically. following this coding
process answer the following questions

28 & & eso wgsaTw S°D e SRV 0. P. 1. 5. 1 0B & S 8 rgo
T BOTS DBy QITED DOV Bgotorr EE SP. & Edoh DEoHI VBN
8ot DY VI LK BTV TG,

Sub questions

Question Number : 56 Question Id : 6116303615 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

‘Which letter is coded as H ?
D egdo H e §& Sabheadod

Options:

1. C

X

4 D

Question Number : 57 Question Id : 6116303616 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The code for the word ‘CYCLE" 1s
‘CYCLE® 78 §&

Options:



. GCHP p

‘GCGP p

L-2

'GCHQ B

, GDGP p

Question Number : 58 Question Id : 6116303617 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The code for the word ‘DOZEN" 1s
‘DOZEN’ @3 Ho7d8 §&

Options:

H3IBR

'H3H)R

L2

'H3DPBR

, H3KPR

Question Number : 59 Question Id : 6116303618 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which word 1s coded as F 0 6 O?
D00 F550m & Boedod ?

Options:

. BOOK

BOOM

L-2

BOON

Laa

, BOOT

Question Number : 60 Question Id : 6116303619 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which word is coded as P y 6 R?
D HSo Py 3R §& Sabesdod?



Options:

. LIER

LOIN

-2

, LIES

LION

oS

Question Number : 61 Question Id : 6116303620 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In a code ‘SROLFH’ 1s coded for ‘POLICE’. then the code for ‘'STATION"
28 §& & ‘POLICE’ € §& ‘SROLFH’ 908 , 03 ¢ ‘STATION” 8 §&

Options:

. VWDWLRQ

VXDXLQR

- VYDYLRA

(Y]

- UWDWLRQ

I

Question Number : 62 Question Id : 6116303621 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In a code ‘BUS “is coded as “YFH’. The code for “‘CAR’ in their code 1s
28 §& & ‘BUS ‘8 £& ‘YFH' eand , @i ¢ ‘CAR’ 8 §&
Options:

 ZIX

X7ZI

B

5 XIZ

4 1ZX

Question Number : 63 Question Id : 6116303622 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



If CRICKET 1s coded as BQHBIDS then the word that 1s coded as GNBIDX 1s
CRICKET » BQHBIDS = §& 3% GNBIDX = &€ DODIEIC DGO

Options:
| BOWLER

UMPIRE

[

; HOCKEY

4, SOCCER

Question Number : 64 Question Id : 6116303623 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If AMKNSRCP is the code for COMPUTER then the word coded as KMSQC 1s
COMPUTER. D AMKNSRCP = £& 3% KMSQC = & DADIEICR Do

Options:
| EMAIL

PASTE

k-2

 ENTER

(%]

4 MOUSE

Question Number : 65 Question Id : 6116303624 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If FDSLWDO 1s the code word for CAPITAL then the code for HOTEL 1s
CAPITAL & &€ 5o FDSLWDO esoné® HOTEL & §&

Options:

, KRWOH

KRWHO

L-2

KROWH

L

- KRHOW

Is

Question Number : 66 Question Id : 6116303625 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Date, Time & Arrangement Problems
38, DB, WBEL DAV

It was Thursday on Feb 15" 2018. What day of the weck will be December 15™ 20187
2018 Dead 15 2 dardo eoonod. 2018 Ehoed 15 & arcoed” &biey e9s)e0d?

Options:
Monday
Favardo

Thursday
5 (DMaT00

Friday
IS0 00

Saturday
Bar00

I

Question Number : 67 Question Id : 6116303626 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Date, Time & Arrangement Problems
38, DB0ODo, WSBEL DAV

A clock strikes once at 170 clock. twice at 2’0 clock and so on. A person started counted
from 5’0 clock i the morning and heard 69 strikes. the time when he heard the last strike 1s

28 (c.oirdo 1 O foty HG 280 2 S ot (16 Bocw i)“gp... SIS dotren ot
28 958 &0 5 (T0LVAVOE (0L T DEIB 69 (Totrn T5) DES B IO (ot

Domds Davaio

Options:

L 11 a.m

1lpm

L2

3pm

4 4pm

Question Number : 68 Question Id : 6116303627 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical


https://www.aplustopper.com/previous-year-question-papers/

Date, Time & Arrangement Problems
38, DB, WBEL DAV

The acute angle between the two hands of a clock when the time 1s fifteen minutes past five
15
5 fdote 15 Dvaren wanoio e::oijgrbﬁé w8 fcoiroo €570 Boch S0DRE) DT eIy

&r0

Options:

0
T2 %

67%°

L2

40
;3 64

1 58%°

Question Number : 69 Question Id : 6116303628 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Date, Time & Arrangement Problems
38, davawo, BwHBEL DAV

A 15 father of B and C: E 1s the mother of B while D 1s wife of F. If F 1s the father of E then
what 1s the relation between D and E

B anboid C » dog A. B g o E. F aws), ardy D. E aos), DD F esomdd ,

a0 E & D 3 (o) Doocso

Options:
Sister
| Db

Sister- in-Law
5 O/ s00CeD

Mother - 111 - Law
ST

Grand Mother
e:;mémé / R‘.F“G:i}énmé

Question Number : 70 Question Id : 6116303629 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Date, Time & Arrangement Problems
38, DB, WBEL DAV

Three trains A, B and C start at a station in different routes to reach their destination 90kms,
70kms and 85kms away respectively. If they start at 10 a.m and move at respective speeds
45kms, 40kms and 35kms per hour. then the order in which they reach their respective
destinations 1s

A. B 08ain C e &00°eh Jen 2206 DI rgrees” HARm 904.50. 708.20 dodain
858.00 © GrGoeS” (0 (UPfRS) BOAS w8 PO Aol LIOLENBT0D. D 10 ot
£I0EVED DOV oty 45830 | 40 2.80 8o 35 4.2 Do DEHoE e9d aeed

rim?gué @0 Sao

Options:
| &B;C

B.C.A

L2

L0, A,B

4 ByAL

Question Number : 71 Question Id : 6116303630 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Date, Time & Arrangement Problems
38, HB0ODo, WBEL DAV

Anita left home for the bus stop 20 minutes late than usual. It takes 15 minutes to reach the
bus stop. If she reached the bus stop at 8.30 am. at what time does she usually leave home
for the bus stop.

Q“EJ 2 p9263 Aranren ol 20 Dvaren IR Qo) Kol O0DENBBA. LRy Q’E)
3 3003 15 DT DEIBI0A. 3D LAy D 2 8 .30 a.m & 368, e By o
a :;wam.:}é o) RAVOIFEDE Qo) ol paenadod.

Options:
y 7.52am

7.50 a.m

[

3 7 S5am

7.58 am

b



Question Number : 72 Question Id : 6116303631 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Date, Time & Arrangement Problems
38, DB, WBEL DAV

Five persons A. B. C. D and E sit around a table such that A 1s diagonally opposite to E: C
and D are on either side of A. If there 1s only one person D to the right A. the anti clockwise
order in which they sits 1s

E3& iaa‘ﬂﬁ“ Qe A eoZéxn C andoiw Den A S 3O DD E0C DT DAL

2gsen A, B. €. D awcoon E 28 Ge0s chg)r Srd\a) . A S G D) @5 @8 955 D

€083 TP EPMND &) 500 DV &aes”

Options:
| ACEBD

ADEBC

L-2

3 ABEDC

 AEDBC

Is

Question Number : 73 Question Id : 6116303632 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Date, Time & Arrangement Problems
38, DB, WSBEL DAV

If xAy = (x — 2y) + 2xy. then a non zero value of x such that xAx = 0 is
xAy = (x — 2y) + 2xy @008 xAx = 0 9030t Gol w8 IS0 X DEd

Options:
—2
l 4
—1
=
4
3. 2
X
4 o8

Question Number : 74 Question Id : 6116303633 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Date, Time & Arrangement Problems
38, DB, WBEL DAV

Consider the string of letters given below:
BCDEOEOONQRSOVOVOOBKBOBOO
How many letters are immediately preceded by two O’s and immediately followed by no

O's
& BD DD VLT oD S8 o0l

BCDEOEOONQRSOVOVOOBKBOBOO
Focs) O e DAL S0 801 2 ‘'O * DavDobtiny Bhared 6&@5}} e9507eD JI};L.

Options:

1
1

Question Number : 75 Question Id : 6116303634 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Date, Time & Arrangement Problems
38, ddvawe, ¥HBEL DAV

If o means ()

p means +

 means +

0 means —

A means X
then find the value of 2A3 Y46 8 P 2 v 443

o e ()

P eacdrr +

¥ eIOTP +

0 9T —

A eaddym X

@D 2A3 Y408 P2y 4A3 =

Options:
42



30

]

3 18
4 24
Mathematical Ability
Display Number Panel: Yes
Group All Questions: No

Question Number : 76 Question Id : 6116303635 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
Wosrieddd a»mgﬁa

1 1 1
+ g =
a*¥+a* 741 a¥ F4a¥ F41  aF¥4at V41

Options:
0

l.

2. L

3 -1
4

4

Question Number : 77 Question Id : 6116303636 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
evoSriedh Famgéa

1 1 —1
Fora # 0, T = i
1+a~+a 1+a==+a

—1
1 1
a#0s (1+{12+ﬂ_2 + 1+a‘2+a_4) =S

Options:



al+1

l.
1
at41
1
y (a2+1)(a®+1)
1

aZ(a?+1)

4.

Question Number : 78 Question Id : 6116303637 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
iwoér&idlﬂhﬂughiﬁ

a:h = 2:3:b:ciad53a+b:b4+c=
Options:
6

8

30

20
21

20
27

Question Number : 79 Question Id : 6116303638 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arithmetical Ability
eosriedes Famgﬁé

In an alloy of 35 kgs the ratio of two metals A and B is 4:1. If 1 kg of metal B is added
then the ratio of A and B in the new allow is

35 Se5%0 w8 PS5 305’ Bocd STfey A, B o Diy@ 4:1. &S 1 3¢5° S°r0 B D
$D2B By WFS oS A, B o i

Options:

”-
1. "'1

7:2

-2

6:5
4 54

Question Number : 80 Question Id : 6116303639 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
wosrieddd megﬁa

17 + 1242 =

Options:

1_1+\/§

1+42
L2443

4 142

Question Number : 81 Question Id : 6116303640 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arithmetical Ability
eo&rieddd megﬁa
Ifx=2++3, xy =1, then ——+ 22— =

V2H/x 2y

x =2 ++/3, xy—law@@oabm(+r ( ==

Options:

V2

1.

Question Number : 82 Question Id : 6116303641 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
oS3 a»bagﬁa

The number of integers between 100 and 1000 which are divisible by each of 4, 5 and 6 is

100 &0 1000 S8 5> :g;ogoosneesﬁ 4.5, 6 05D H3 IS erhoHeE Doge) Doy

Options:

3
;R

16

]

17

4 18

Question Number : 83 Question Id : 6116303642 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arithmetical Ability
evosriedch megﬁa

3k?+4k+12 . S
The number of natural numbers & such that —— ——isaprimeis

3ki4+4k+12

- 208 ;‘g{;ﬁé‘bom‘s e&di)éggar? &od *&:?ﬁﬂaﬁcméw e ::303318

Options:

0

2

fad

Question Number : 84 Question Id : 6116303643 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

ewosricid a‘mgga

All the numbers 411, 752 and 1031 leave same remainder 8 when divided by »n. The value
of n is

ne Aot :::103.3359_13 411. 752, 1031 en 2,8 330 8 DOALVRDT) OD. 71 DD

Options:

32
L

Question Number : 85 Question Id : 6116303644 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arithmetical Ability
eodricdd avmgﬁa

The sum of the greatest common divisor (GCD) and the least common multiple (LCM) is
403 and their LCM 1is 12 times their GCD. If one of those numbers is 124. then the other
number 18

ot Doaxge 183y Frdrdierato ((rer), Y Fdordidedso (SJth) © dwdo  403;
TO S TS BT D 12 B&w. DB 208 Doy 124 ©900B Toctsd Doy

Options:

;| 93

108

[

; 124

Question Number : 86 Question Id : 6116303645 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
evosriedch megﬁa

Options:
2751

| 496

2561

7 486
2461
496

2561

4 496

Question Number : 87 Question Id : 6116303646 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical


https://www.aplustopper.com/previous-year-question-papers/

Arithmetical Ability
evosriedch megﬁa

SR 2T TR, ¢ L7 8 7 (SR + 0.8888 ... ...... =
Options:

pd
3

[
W |~

w =

Question Number : 88 Question Id : 6116303647 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
evoStieddh a‘mgéa

* T
-,—,—,—¢thena, —a, =

If a,,a,,a; and a, 1s the decreasing order of the elements in {=,—,=,
1 =203 4 = e T e

e T & X
{—,—,—,—} &' duresre d8ragddo a,, a,, a;, 4, YoNB a; — a, =

oo | A

17
56

19
56



Question Number : 89 Question Id : 6116303648 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
wosrieddd a»mgﬁa

The largest integer in the set {x € R: [x — 2| < 5} is

{x ER: |x — 2| < 5} DA &5° 3DE YyrTrogo

Options:
6
l.
o
5
3.
3
4

Question Number : 90 Question Id : 6116303649 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
Wosteddh -a‘é‘.&.‘lgﬁd

If 16% of a property is worth Rs 3.52 lakhs then 25% of the property is worth (in lakhs of
rupees)

208 e52e5° 16% Dewsd 8. 3.52 wgoond es esed’ 25% Jewd (w5 Srarabed’)
Options:

11
L

9

. 55

Question Number : 91 Question Id : 6116303650 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arithmetical Ability
ewosHeidd avmgga

If 25% of a number m is added to another number » then » increases by 10% then m.n =

208 oy 1 e3° 25% 08’8 Qo 1 S 490 WX 1 Dewsd 10% 2663 QXN 1

Options:

2N
l.

N
J

-2
f—

Question Number : 92 Question Id : 6116303651 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
o0&l avmgﬁa

By selling a mobile for Rs. 5700. a trader would lose 5%. The price at which he sell it to
gain 5% 1s

208 0PS A &. 5700 VB ws T8 5% o Toowred. 5% ergio Tooreots

e9¢HD 'E'_‘}mé;ﬁﬂ?\'}&'} oo}

Options:

Rs. 6400
L

_ Rs. 6000
. Rs. 6200

. Rs. 6300

Question Number : 93 Question Id : 6116303652 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arithmetical Ability
eoo&Hieadh &&gﬁé

The cost price of an article is Rs 800/-. Its marked price is Rs 1000/-. The shopkeeper has
announced a discount because of which he incurs a loss of 10%. The discount percentage
1s

8 S S0y Do . 800/~ &7 PSS Do . 1000/-. &3 DSPEETEED DSD
G708 HB 10% HR'ASreDd. €5 EJ7 0w F°do

Options:

16
L
20

24

Question Number : 94 Question Id : 6116303653 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
eo&ricddh &&gﬁé

P. Q. R are partners in a business. P invested half as much as Q and Q invested twice as
much as R. If R’s investment 1s Rs. 5630, then the mvestment (in Rupees) of P and Q
together 1s

P. Q. R &0 28 J°§al00e5” ar(iaqanen. Q depeces” dfo P dewed Goc®; R
DEPICES” Defo Q DEWIE DEFCD. R e . 5630 eand P. Q en agdr S0l DO
Déved (draranes”)

Options:

; 16.980

16.560

16.890

Lad

18.690

o



Question Number : 95 Question Id : 6116303654 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
eo&ricdeh megﬁa

In a property A. B and C have shares m the ratio 5:6:11. If C gets Rs 3 lakhs more than A
then 50% of the share of B (in lakhs of rupees) 1s

28 esned® A, B. C orére QG 5:6:11. A 5083 C S . 3 VL I D D) VDD B
e 50% (w50 dradrone’)

Options:

1.25

1.5

k-2

1.75

Question Number : 96 Question Id : 6116303655 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
eoo&ricdh aemgﬁa

Two pipes P and Q can separately fill a cistern in 20 and 30 minutes respectively. There 15
another exhaust pipe R at the bottom of the cistern. If all the three pipes are opened at the
same time, the cistern will be full in 24 minutes. The time (in minutes) for the pipe R to
empty the full cistern 1s

oanew P. Q en DaDCT w8 ﬁeﬂ:’;-z] DoDEFIS DO 20 Dawaren, 30 Dawaren
S0HoeroD. &5 FHS cH0e)” o)) PP 3D Do) R od. & 2P Dopodd
2330 Dyd &5 FO 24 Dawared” Docreiod. Doy FHB Do) R gr@ Soberdd HE
Ravoo (Daware”)

Options:

4
i 32

28



Question Number : 97 Question Id : 6116303656 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
eosreIdh &mgﬁa

Two taps A and B can fill a tank independently in 10 and 15 minutes respectively while C
empties the full tank m 20 minutes. If all the three are opened for 1 minute and C 1s closed
then extra time ( in minutes) to get the tank filled 1s

Doanen A, B &0 IEDAT 28 FHD Hoom 10 Dawarew, 15 :j.m:rii“gf oI ITT;
DoY) C Do FGD 20 Dawalre’ 278 SoDrec. € P Horo 1 Dando Dady
Do) Boe(E C D AR &8 F Doctrdd HE 60 Davate (Ddwares’)
Options:

3
8_
1 10

3
S g
10

[E%]

Question Number : 98 Question Id : 6116303657 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
esoSrieddd megﬁa

The speed ( 1n kmph) of a person who crosses a 1200 meter long bridge i 12 minutes 1s

1200 auerg FE (10 HDoBd 12 Dawared” orexd®hd ws o958 Do (ot 3.20.
ee5”)
Options:

0



Question Number : 99 Question Id : 6116303658 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
eo&ricdeh megﬁa

A person travels from P to Q at a speed of 60 kmph and returns at a speed of 45 kmph If
total time taken 1s 3% hours then the distance (1n kms) between P and Q 1s
P &0od Q 3 28 O3 Mo 60 3.20. Driodd DY SHMHDOITE0eS” ot 45 3. .

D0 SR, Do POIITLEo 3% flotren HAB P. Q © angjeirdo (3.a0. 0e°)

Options:

60

70

L2

80

90

Question Number : 100 Question Id : 6116303659 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
LTI -{ofx x] &mgﬁa

P and QQ can do a work individually in 50 and 40 days respectively. They together agreed
to complete that work for Rs. 900. Then the share of P ( in rupees) in this amount 1s

P. Q & 28 HID DEDAT G 50, 40 Fered® 330 SabOMm. €8 DD P BoHErDS

T . 900/- e0fismo ST . & 2GS’ P ot (draoie”)

Options:
| 350



500

k-2

3 450

400

Question Number : 101 Question Id : 6116303660 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
wosrieddd %‘mgﬁé

A and B can do a piece of work in 20 days.The same work can be done by B and C in 30
days: C and A 1 40 days. If A works alone the number of days required to complete the
work 15

A. B en 88 a8 02D 20 ﬁéw{f Sdobod. e9d 022 B, C en o 30 ﬁﬁa&.’lgeéﬁj‘“; C.A
e SO0 B3DID 40 Frd’dr dabiom. A w8 & D B & DI P B5erdS DY
Barer Doay

Options:

80
1.

T2

n

60

48

Question Number : 102 Question Id ;: 6116303661 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
ewo&ticdch %‘mgﬁé

. i : ; ; ; 22
The perimeter of a semicircle 15 144 em. Then its area ( 1 sq.cms) 1s (Here takem = T)

w8 90030 ENEDS 144 20.20. DN T PTOLO (3.00.20. ©EF). (f‘aﬁba T =
= o2 Stoc )

Options:



. 1416

Question Number : 103 Question Id : 6116303662 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
wosrieddd %‘mgﬁé

The arca of the pentagon ABCDE. given that AB=BC=CD=AE=2, DE=2V2 and 2£BAE =
£BCD = 90° is

Dowee ABCD 5° AB=BC=CD=A4E=2 e, DE=2/2 e, +BAE = +BCD = 90° @2

Y T PFVo

Options:

1 3+ 3V2

RIS

5 24+ 642

6V3

4.

Question Number : 104 Question Id : 6116303663 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
eo&ricddh %‘mgﬁé

A hallow 1ron pipe of 63 cms length having outer circumference of 440 cm 1s of thickness

: . : ) 22
4 cms. The volume (in cubic cms) of the iron used 1s (THI{E = T)

63 20.20. TFED), 440 Do.ab. 7y LT (o w8 Ev VD Feo ot 4 Bo.ab.
AI3 &DATAD @A DA (0.200.40 ©e5°) (;rr = % @m%ﬁod)

Options:



97712

107712

L-2

107714

108144

Question Number : 105 Question 1d : 6116303664 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
wosrieldh megga

The surface area of a hemisphere 1s 16632 sq.cm. Then its volume (in cubic centimeters)
18 (Take:rr = %)

s @gﬁﬁvy@ edddvPTe 16632 5.20.20. 2D dDBAT0 (20.20.00 ©e5’)
( T = ? S8 o&)

Options:

1 176 x (42)3
176 x (42)2
, 176 % (21)3

156 X (42)?2

Question Number : 106 Question Id : 6116303665 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
wosHrd aemgéa

A rectangle of length / meters and breadth 50 meters has an area which is equal to the area
of a square with 90 meters diagonal. Then / =

[ 008 T, 50 Daxg deenyrieo HESS0EH DFofo, 90 exd DEdeaose
DSBGHDVV(0S DATD0. BN [ =



Options:

D

~» 40

140

81

Question Number : 107 Question Id : 6116303666 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
o srieddd 5‘5&:35#

In 10 minutes a person can walk around a rectangular field of 300 m X 200 m. The speed (
in kmph) of the person is

300 a0 X 200 &0 (10 SGIR0FT0EB0 tr 2.8 958 10 Dawared” 800 0o, e H58
Dito (ot 3. . e 5°)

Options:

5
l.

Question Number : 108 Question Id : 6116303667 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Arithmetical Ability
wosrieddd %‘mgﬁé

If the radws of a circular wheel 15 14 em. then the number of revolutions necessary to

. ’ : 22
cover a distance of 105.6 meters 1s (Take = 7)

28 HHEFs0 380 TfFrge 14 Do.gn. wond 98 105.6 G AP DVErDS

IDVORN FDET 0] (TI = % 08 o-:f‘.)

Options:
.
jo 0

150

L2

140

90

Question Number : 109 Question Id : 6116303668 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
esoSrieddd megﬁa

The largest 3-digit number x satisfying the congruence 3x + 2 = 4 (mod 13) 1s

900708 3X + 2 = 4 (mod 13) D Sy0d0c 8D 3-9050 Doy X

Options:

| 987

a89o
997

4 993

Question Number : 110 Question Id : 6116303669 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arithmetical Ability
evosriedch megﬁa

For real numbers g and b writea+b = a®> + ab— b%. If 4 * x = 6 then (x — 2)* =

T Dodfev a, bewsraxb = a’ +ab —b% 4+ x = 6 9 (x —2)% =

Options:

10
1.

]

14

16

Question Number : 111 Question Id : 6116303670 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability
Do, 2rgDodapd bvmgaa

The inverse of (p A ~q) = T 1s

(pA~g)— T 3 D500

Options:

, T (pA~q)

~r = (pA~q)

B

(~pvq)—>r~r

(pAgQ)—oT

T

Question Number : 112 Question Id : 6116303671 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability
Ddon, 2rgdodapd aomgaa

Consider the statement S:
“If10 <8 then 2 +4=28".

Then S 1s

Dadeo S DOBMEdocod.:
*10 < 8 es008, 2 + 4 = § e9spéoodd”

Options:

True

. rﬂ'?j_ﬁﬁ

False
'E'_‘J;:I'@TSD

o]

Either true or false
ﬁ)@én eoe eﬂ“foe:é5c:
3

Not a statement
28 DIIRd0 P

Question Number : 113 Question Id ;: 6116303672 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability
Ddon, 2rgDodap b»mgaa

For any set § let n(S) denote the number of elements in S. If 4, B and C are sets such that
n(AUBUC) =31, n(4) =20, n(h) =16, n(€) =8, n(ANBNC) =3,

A NBnc)=2andn(AnB NC)=4thenn(ANBNC)=

D AE § 37 n(S) TS aresty DoaRd Ardaod.  wdoasen 4, B, C e

n(AUBUC) = 31, n(4) =20, n(b) = 16, n(€) =8, n(ANBNC’) =3,
n(4d NBNC)=2a000n(ANB NC) =4eahgnosn(ANBNC) =

Options:



0 3
2
3
1
4.

Question Number : 114 Question Id : 6116303673 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability
Do, 2rgodapd b»mgae:&

If P(A) 15 the power set of the non-empty set A. define a relation R by XRY if and only 1f
XcVYforX, Y e P(A). the relation R is not

BFRVBO DB A IV, BVG  Pl4) eond XY € P(4) &5 XRY e Doerodo

€oerd3 X C ¥V 5oard 9 DO)R) &5 Doodio R 5 G w&eso

Options:
Anti-symmetric
IR0

1. =

Transitive
~0Sa0620)

o]

Symmetric

i’)"ﬁgﬁﬂ

Reflective
DTG0

Question Number : 115 Question Id : 6116303674 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability
Ddon, 2rgdodapd b»mgsa

The number of injective functions from a S-clement set into a 8-element 1s

5-C0FO5PL D800 8-ANFOSTY DSBS (10 ©9D(E D0 oAy

Options:

, 6720

762

Question Number : 116 Question Id : 6116303675 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability
Do, argodapd bw.mgaa

The ntercept made on the X-axis by the line passing through (3.-5) and (-2.7) 1s

(3.-5), (-2.7) ® oz T OB X-950p D0y6S Gardocio e

Options:
5
il

11

L2

11
12

11
12

Question Number : 117 Question Id : 6116303676 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability
Ddon, 2rgdodapd b»mgsa

The equation of the perpendicular bisector of the line segment joining the points (-2, 3)
and (1. -2) 1s

Docoapen (-2. 3), (1. -2) L £8 Baraoda) ©oeIIG0END OarRangoeo

Options:
bx+3y+4=0

L dE—bByp+4=10
r—y+tI=1

4I+y—?=ﬂ

Question Number : 118 Question Id : 6116303677 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability
Do, argodap bwmgaa

sin? 60° + cos? 225° + tan? 210° + cot? 240° =

Options:
13
37

23
12

12

e | e

Question Number : 119 Question Id : 6116303678 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability
Ddon, 2rgdodapd b»mgsa

- | el ; 1
Foraand f with 0 =@, B < Sifcosa = sin 8 —Erheuaﬁ—r— 2B =

0 = a, ﬁ{%@cﬁjﬁunﬁa,ﬁ t}ﬂjmsazsinﬁzgwoﬂﬁfﬂmﬁm x4+ 28 =

Options:
T

4

o | A

w A

Question Number : 120 Question Id : 6116303679 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability
Dok, 2rgdodapd &mgsa

tan @ =§=} tan 28 4 sec 28 =

Options:
7

2

o= | o

-2

Question Number : 121 Question Id : 6116303680 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability
Ddon, 2rgdodapd aomgaa

From the top of a building of height 60 feet which is on the bank of a river, the angle of
depression of a house on the other side of the river 1s observed to be 60°. The width of the
river (in feet) 1s

28 D08 Y mc_:;:ga‘) em‘l 60 escHibe edio Bado Aoct, B8 &J%JK) &:{)‘l Qo83
bmﬂléﬁmo 60°. & DO Dy (e9crixes”)

Options:

i 30

2043
5 20

6043

Question Number : 122 Question Id : 6116303681 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability
Dok, 2rgdodapd aomgaa

If x—a, x—f and x — y are factors of the polynomial 3x® + 4x% + 2x + 5 then the
: ; 1 .
polynomial having factors x — Sy and x — S
i 1

a0dd 33 +4x2+2x+58 If x—a, x—f, x — Y w rasdd g F

1 e st
X — = e rasteTTe £a0md
¥

Options:

1 1 -
“xP 4 oxi 4 x4
3 4 z &

1.

Bx® +4x2 +2x 4+ 3

. Bx> +3x2 +4x+2

Ex? +2x2 +4x+ 3



Question Number : 123 Question Id : 6116303682 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability
Do, 2B #mgsa

Ifx?—4divides x* +ax® + bx? —5x+4thena—»b =

i raxd byt —5x 44524 :jéj’qon'* ARG eI A — b =

Options:

Question Number : 124 Question Id : 6116303683 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability
Do, argodapd bwmgaa

A factor of 2x* — 3x? 4+ 2x — 1, among the following is

doBares® 2xt — 3x2 + 2x — 1 & 28 scOETotio
Options:

L x+1

x+2

B

Question Number : 125 Question Id : 6116303684 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Algebraic and Geometrical Ability
Ddon, 2rgdodapd b»mgsa

If (x — 2) is a factor of p(x? + 4). where p(x) is a polynomial. then a factor of p(x) is

p(x? +4) & (x — 2) a8 oS0 DA p(x) & ws somroso

Options:

. (6)

b {x_ ?}i
(x=8)

(x-10)

Question Number : 126 Question Id : 6116303685 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability
Do, 2rgodapd b»mgae:&

Two numbers are in the ratio 5:6 and when 3 1s added to each of them. their ratio becomes
7:8. Then the sum of those two numbers 1s

B0t o[ 5:6 DReS” &) an. JPBES” DA 3 SHDB o DA 7:8 BDBVH

e::?;)_}:}f:.:a e3 ot K‘JDQJ?SE} 20Ed0

Options:
23

L2
%]

Question Number : 127 Question Id : 6116303686 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability
Ddon, 2rgdodapd avmgaa

It [_31 _22] [;] = [ié] then 3x + 7y =

[—31 _32] [;] = EIE RI0DD D 3x + 7Y =
Options:

1

[ E]

Question Number : 128 Question Id : 6116303687 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability
Ddon, 2rgodap a»mgaa

If §;,5;andS; denote the sums of the first n, 2n and 3n terms respectively of an

o

arithmetic progression then

Ty
5.
28 9053 e5°D DG 1. 2n, 3n OO VTV HOIT 57, 55, 53 ©F 2P, e
L S |
Options:
4
1.
3
2,
2
3.
1



Question Number : 129 Question Id : 6116303688 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability
Ddon, 2rgdodapd b»mgsa

If S 1s the sum of five consecutive even integers then the least among them 1s

D DG DBD0DER A0 S 90N €9 Teedes” 525y 2oy

Options:
5-20
3
l.
5-16
5
2.
5-10
3. 3
5-5
4 3

Question Number : 130 Question Id : 6116303689 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability
Do, argodap bvmgae:&

The coefficient of x" L in (x — 1)(x — 2)(Xx — 3) e oo ... (X — M) is

(x—D(x—2)(x—3) oo .. (x — 1) &° 2" (DRSO

Options:

n(n+l)
L, 2

nin+1)
2

k-2

nin—1)

; n{n—1)




Question Number : 131 Question Id : 6116303690 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability
Ddon, 2rgdodapd b»mgsa

2 e

: ; ; . : - 3x 1 g
The term independent of x 1n the binomial expansion of (T e 3—) 15
x

(3x3 1 )g e P
—— ) ODG DYoEES’ x S Dedo

2 3x

Options:
1
27

Question Number : 132 Question Id : 6116303691 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability
Do, 2rgodapd b»mgae:&

+- Jemn-

Options:

, 704

64

[

Question Number : 133 Question Id : 6116303692 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability
Ddon, 2rgdodapd b»mgsa

Ifi‘d=—1and 4 = [E’} _Gl] then A~ 1 =

3 8

i2=-1,4=[ °_

i] eonid A1 =
Options:

A
1.

[

Question Number : 134 Question 1d : 6116303693 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability
Do, 2rgDodapd bvmgaa

Yt y1l4x—y1l—x

x—0 ¥

Options:

-1
1.

[ E]

Question Number : 135 Question Id ;: 6116303694 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability
Ddon, 2rgodap &mgﬁa

, d
y=xsinx=2 =
¥



Options:

| xcosx +sinx

XCcosx —sinx

o]

5 cosx + xsinx

4 xsinxy —cosx

Question Number : 136 Question Id : 6116303695 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability
Do, 2B bvmgsa

It the hypotenuse of a right angled isosceles triangle 1s 8§ em. then its area. i square
centimeters, is

28 ©oeEn DAAETTVGEDEY) 0o 8 o.d. oS T°D) PT°VL0, DO Do.ab.
e’

Options:
12

16

k-2

Question Number : 137 Question Id : 6116303696 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability
Ddon, 2rgdodapd b»mgsa

In the quadnlateral ABCD. it 1s given that AB=40, BC=2150, CD=50, £tBAD = £ABC =
90° and AD 1s parallel to BC. The perimeter of the quadrilateral ABCD 1s

Ea= rﬁﬁ}d}aao ABCD 5° AB=40, BC=250, CD=50, #BAD = £ABC = 90°, AD &8
BC 2 Dauroeito €92 RN W. &3 B, 20 ABCD meéué‘“e_)@

Options:

L 590

600

[

620

4 640

Question Number : 138 Question 1d : 6116303697 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability
Do, 2rgDodapd bvmgae:a

A, B and C are three points on the circle with centre O. In AABC if £B = 60°, 2C = 70°
then LBOC =

O Sodorr (i Oythop A4, B, C e Hored Dotospen. AABC e5* /B =60° 2C = 70°
e L BOC =

Options:
| 130°

100°

Question Number : 139 Question Id : 6116303698 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability
Ddon, 2rgdodapd b»mgsa

The length of the median through 4 of AABC where A(4. 2). B(6. 5) and C(1. 4) is

A(4.2). B(6.5), C(1. 4) ©900B AABC &§° 4 ororiloh a0eyio o e

Options:

12\!E

B |
=41

B

-
[y
£ad

e
[

Question Number : 140 Question Id : 6116303699 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability
Do, argodap bwmgaa

If A(4, 1). B(7.4). C(13. 2). D(x. y) are the vertices of a rectangle ABCD then (x. y) =

A(4.1). B(7.4). C(13, 2). D(x. y) &0 8G5e60 ABCD ITroond sy (x. y) =
Options:

| (10.5)

(10.-5)

L-2

(-10. 5)

, (-10.-5)

Question Number : 141 Question Id : 6116303700 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Statistical Ability
aﬂnmag E}tmg'sa

The mean deviation of the scores 3. 5. 7. 9. 11 and 13 from their arithmetic mean 1s

ﬁ“zjmr_u 3.5.7.9.11, 13 ® 908206500 ~A0L) DG Jmo

Options:

0
1,

bJ

L |

Question Number : 142 Question Id : 6116303701 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statistical Ability
aﬂnapag &mg'sa

In 12 consecutive odd numbers the anthmetic mean of the first five numbers 1s 85, The
difference of the medians of the first five numbers and the last five numbers 1s

12 0D 82 “naoa}gﬂej* G HED R0DJL 05E a0 B5. 9D 2GEY DD

R0 sGLiso, et e300 RofL aVGfito © Zco
Options:

2
| 12

13

L2

14

15

Question Number : 143 Question Id : 6116303702 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Statistical Ability
aﬂnmag E}ta::og'sa

The mode of the following observations 1s:

14,21, 64, 78,42, 21, 39. 42, 21, 18, 17, 21, 10, 21

206 HBFOHY) eFTuWEo:

14,21, 04, 78, 42, 21, 39,42, 21. 18, 17, 21, 10, 21

Options:
14

39

Question Number : 144 Question Id : 6116303703 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statistical Ability
aﬂnapag E}ﬂmgsa

It o 1s the standard deviation of xy, X3, .........X, then the standard deviation of 9 +
XL 3T s DA DY, 18

X1 X3, eee e e Xy @ SO0 0 9003 9 + 3%3,9 + 3x5, ... .. ... 9+ 3%, © S0DDVO

Options:
L 30

30+9

3 30—3

VIg2 + 3

Question Number : 145 Question Id : 6116303704 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Statistical Ability
aﬂnmag Ernmg'sa

The variance of the first five odd natural numbers 1s

QDG HED B VaPRV0AR) DS

Options:
3]

1.

2v/2

o]

Question Number : 146 Question Id : 6116303705 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statistical Ability
%ﬂnapar:‘. &‘mgsa

The rank correlation coefficient » of a distribution lies in the interval

28 Deradn) §6 Dirdonodieto 1 Dens &ol evoedto

Options:

(-1, 0)
l.

(-co, 0)
(-1. 1)

(1, 02)

Question Number : 147 Question Id : 6116303706 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Statistical Ability
&nm‘gg E}tmgsa

A box contains nine tickets numbered 1 to 9. If 3 tickets are drawn from the box one at a
time, the probability that they are alternatively either odd. even. odd or even. odd. even 1s

2.8 E:negeﬁ'ﬁ 1 &oocd 9 ﬁom@m.ﬁl qfﬁ“.ﬂ:}g_,’& E?}E@_.jmaﬂulmm. €5 ) 06 208 7Y 2o
28T 3 O30 Jons DY 9D B8, VO, Su DoJLTT; 1B, B, DB Do
»3:!4:.*33151 :Jﬂi_ﬁ“éﬁ_ﬁ@

Options:
5

22
L

10
63

L2

Question Number : 148 Question Id : 6116303707 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statistical Ability
3‘03;:55 &hmgsu

A number 15 chosen at random from the first 100 natural numbers. The probability that the
chosen number 1s divisible by 7 15

2058 100 Jroires oo o Gy Sore L8 Doy JoDs S W. €8 JoDID

"n}(};g)lﬁj 7 @ erfoned ‘&)0‘:.‘_3“&‘)5{’9

Options:
7
100



Question Number : 149 Question 1d : 6116303708 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statistical Ability
auoap'gg .%nmg'sa

If A and B are independent events such that P(AN B) = Ll P(B) = % then P(A4) =

25"
224308 003en A, B ev P(AN B) = %.P(B) i % eabit0f ey P(A) =

Options:
3
11

Question Number : 150 Question Id : 6116303709 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct meaning of the word given:

If three unbiased coins are tossed then the probability that at least two coins give heads 1s

QP Dy £E TEFON IVODY SAV0 Do) TEFOR e5°), D3y oI

Options:
1

2
1.



== W=

W |

o |

Commumication Ability

Display Number Panel: Yes
Group All Questions: No

Question Number : 151 Question Id ;: 6116303710 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct meaning of the word given:

unportunate
Options:

| Dersistent
. negligible

poor

definitive

o

Question Number : 152 Question Id : 6116303711 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct meaning of the word given:

decorum
Options:

| decoration

. behavior

.



s propriety

ustice
4.7

Question Number : 153 Question Id : 6116303712 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct meaning of the word given:

connoisseur
Options:

| officer

commander in chief

lieutenant

d

enthusiast

Question Number : 154 Question Id ;: 6116303713 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct meaning of the word given:

subsist

Options:

; Inde

keep alive
hold

give in

Question Number : 155 Question 1d : 6116303714 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct meaning of the word given:

enfeeble

Options:

1 cncourage



animate

L-2

debilitate

Ll

enable

b

Question Number : 156 Question Id : 6116303715 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct meaning of the word given:

myriad

Options:
measurable

—_

limited
5 countless

A morbid

Question Number : 157 Question 1d : 6116303716 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blank choosing the correct word:

He took a of beer.

Options:

| drafting

. draught

5 drought

=
o
=

Question Number : 158 Question Id ;: 6116303717 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Fill in the blank choosing the correct word:

This region 1s known for its vegetation.

Options:

1 luxurious

luxuriant

L2

3 ramp ant

heavy

Question Number : 159 Question Id : 6116303718 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blank choosing the correct word:

We must from smoking.

Options:

: abstain

forbear
quit

Ve u
4. 8 P

Question Number : 160 Question Id : 6116303719 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blank choosing the correct word:

It 1s difficult to these old documents.

Options:

| aggravate

authenticate

anoint

]

ambush

b



Question Number : 161 Question Id : 6116303720 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

In IP address. IP stands for

Options:

Information Protocol

Internet Programme

Internet Protocol

4 Informed programmer

Question Number : 162 Question Id : 6116303721 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

15 a mobile operating system developed by Google

Options:

; 10S

7 Android

Windows

L

MS-DOS

Question Number : 163 Question Id : 6116303722 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

The smallest unit of a digital mmage that can be displayed on a digital display device 1s

Options:

| digit

. Ppiteh



5 pixel
point

Question Number : 164 Question Id : 6116303723 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

MMS stands for

Options:

1 Multimedia Message System

Multimedia Messaging System

k-2

Multiple Message Sender

kad

Multimedia Messaging Service

Question Number : 165 Question Id : 6116303724 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:
Compressing one or more items 1nto a smaller archive 1s called
Options:

| merging

zipping
zapping

A clubbing

Question Number : 166 Question Id : 6116303725 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

Comparing one’s products /services to those of competitors in order to improve quality and
performance 1s called

Options:



benchmarking

standardization

gauging

scaling

Question Number : 167 Question Id : 6116303726 Question Type
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

The monetary authority of our country is the

: MCQ Option Shuffling : No Display Question Number : Yes

Options:
Central Bank of India

Reserve Bank of India

~ SEBI

Lsd

, Finance Ministry

Question Number : 168 Question Id : 6116303727 Question Type
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

: MCQ Option Shuffling : No Display Question Number : Yes

In the sale or supply of goods or services. something that i1s ready for immediate use is

called

Options:
automation

turnkey

customisation

ready solutions

=
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Question Number : 169 Question Id : 6116303728 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

The written record of what 1s said at a meeting 1s called

Options:
| speeches

agenda

k-2

y proceedings

minutes

A=

Question Number : 170 Question Id : 6116303729 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

A person who buys shares i companies hoping the price will rise. so that they can be sold
later at a profit 1s

Options:
; abull

a bear

a stag

a vendor

Question Number : 171 Question Id ;: 6116303730 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

*Had he not been a dreamer. he would not have gone this far”. The statement imphies that

Options:

he dreamt too much

he always dreamt that he ran very fast



3 he wasted his time i daydreaming

his 1deas have helped him get ahead

Question Number : 172 Question Id ;: 6116303731 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

I am afraid you will have to put up this inconvenience.

Options:
1 011

about

k-2

3 A

with

Question Number : 173 Question Id : 6116303732 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

Let us do it ourselves expecting the government to do it for us.

Options:

for the sake of

mstead of

k-2

on behalf of

kil

in spite of

oy

Question Number : 174 Question Id ;: 6116303733 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

We thought Sindhu would lose the match but she scraped through in the final set. The
underlined phrase means that she

Options:



1 succeed easily
lost the match
3 lost interest in the final round

succeeded with great difficulty

Question Number : 175 Question 1d : 6116303734 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

He asked me. “Have you seen that film?"” The sentence may be rewritten in mdirect speech
as: He asked me

Options:

1 if he had seen that film
if he saw that film

1f I had seen that film

if I have seen that film

Question Number : 176 Question Id ;: 6116303735 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

To look after the transport.

special officer has been appointed.
Options:
| the

an
a

4 1O article



Question Number : 177 Question Id : 6116303736 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

I Ravi sinee 1993,

Options:

; know

knew

S

have known

Lad

was known

Question Number : 178 Question 1d : 6116303737 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blanks with the appropriate phrase/verb/preposition:

He felt that he by his own people.

Options:

1 cheated

15 cheated

a
. had been cheatad

, was cheaten

Question Number : 179 Question Id : 6116303738 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blanks with the appropriate phrase/verb/preposition:

I am thinking a novel,

Options:
to write

- of write



5 writing

of writing
4.

Question Number : 180 Question Id : 6116303739 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blanks with the appropriate phrase/verb/preposition:

If you games regularly. you would become strong and healthy.

Options:
| Played

play

5 had played

; would play

Question Number : 181 Question Id : 6116303740 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blanks with the appropriate phrase/verb/preposition:

Many accidents rash driving.

Options:

canse
l.

are caused
; are caused by

caused by

Question Number : 182 Question Id : 6116303741 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blanks with the appropriate phrase/verb/preposition:

The child was short to reach the top shelf.

Options:



50
4 VEry
, SO very

oo

Question Number : 183 Question Id : 6116303742 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blanks with the appropriate phrase/verb/preposition:

We went to the park

Options:

by walk
l.

on foot

5 by foot

on walk

Question Number : 184 Question Id : 6116303743 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blanks with the appropriate phrase/verb/preposition:

b

Can you tell me

Options:

Where can I find him

Where can he be found

o]

s Where I can find him

; Where him can I find



Question Number : 185 Question Id : 6116303744 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blanks with the appropriate phrase/verb/preposition:

His apology took the edge off her anger. The underlined phrase means that his apology

Options:

, made her more angry

did not have any effect on her anger

made her wildly anger

lessened her anger

Question Id : 6116303745 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (186 to 190)
Question Label : Comprehension

Read the passage below and answer the following questions

Mascow 1s the world’s most expensive city for expamiates followed by Tokyo
which also 15 Asia’s most expensive city.

The cost of Living Survey 2008 has shown Mumbai and New Dellu taking the
bottom two spots of Asia’s ten most expensive cities. Mumbai is on 48™ spot in the world
wide list and New Delhi is on 55™ spot. New Delhi incidentally shares its 55™ spot on the
list with Los Angeles.

The survey covers 143 cities across six contments and measures the comparative
cost of over 200 items m each location mcluding housing, transport, food, clothmng.
household goods and entertamnment.

It 15 the world’s most comprehensive cost of living survey and 1s used to help
multiational companies and governments defermine compensation allowances for their
expatriate employees.

Sub questions

Question Number : 186 Question Id ;: 6116303746 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which word means “persons living outside one’s own country™?

Options:



1 multinationals
~ world-wide list
expatriates

across continents

Question Number : 187 Question Id ;: 6116303747 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Among the following, which city 1s the most expensive mn the world?

Options:

L New Delhi

~ Los Angeles

[

Mumbai

Ll

Tokvo
4. =

Question Number : 188 Question Id : 6116303748 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What 1s Mumbai’s rank i Asia’s ten most expensive cities?
Options:

1 ninth

- tenth

L

second

first
4.

Question Number : 189 Question Id : 6116303749 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which item 1s not mentioned in the passage for measuring the comparative cost of different
items?

Options:



| transport
education

entertainment

household goods

Question Number : 190 Question Id : 6116303750 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Whom does the survey help the most?

Options:

1 people living 1 143 cities of the world

, multinational companies and governments

~ tourists travelling to difficult cities 1n the world

Led

; expatriate employees living 1in Asia

Question Id : 6116303751 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (191 to 195)
Question Label : Comprehension



Read the passage below and answer the following questions

Stories have survived for centuries in the form of folklore because man never tired
of hearing them repeated. Children still delight in stories told to them by their elders, and 1t
may well be that a prunary motive for learning to read 1s the msatiable desire of a cluld for
more stories than his parents or grandparents can supply. Narration, as a mode of discourse.
arises from the universal desire of human beings to hear a story, whether 1t is new or old.
The media of mass communication — television, radio, moving pictures — have vastly
multiplied the means of satisfying this desire. but have added little to the art of narration
itself.

Good narration depends upon sequence, unity and pomt. The mmagined sequence
must be chronological. for narrative must present actions in time. The written sequence,
however, does not have to be in the same order as the imagined sequence — often. 1 fact . a
story may start in the nuddle. “flash back™ to earlier related events. and then conclude with
later events that give a sense of resolution there 1s a sense of past. present and future to
keep the action going, to give the reader that feeling of pace which 1s so vital i keeping his
mterest alive.

Sub questions
Question Number : 191 Question Id : 6116303752 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What 1s the main reason for a child to learn reading?

Options:
elder’s insistence

5 the child’s desire to follow the media

; the child’s great desire for more stories

4 the child’s desire to do well at school

Question Number : 192 Question Id : 6116303753 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Which word means “too great to be satisfied™?

Options:
imagined

universal

, multiplied



4 insatiable

Question Number : 193 Question Id : 6116303754 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which statement 1s true according to the author?

Options:

1 People want to hear only old stories

People want to hear stories either old or new alike

L2

People like stories with a flash back

" People do not like folk tales

Question Number : 194 Question Id : 6116303755 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The media of mass communication has the art of narration.

Options:

1 improved

adversely changed

[

lowered the quality of

L

not contributed much of

Question Number : 195 Question Id : 6116303756 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which 1< not stated as essential for good narration?
Options:

i flash back
point

3 bty



4 se(ueice

Question Id : 6116303757 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)
Question Label : Comprehension

Read the passage below and answer the following questions

Man 1s the Reasoning Amimal. Such 1s the claun. I think 1t 1s open to dispute.
Indeed. my experiments have proven to me that he 1s the Unreasoning Amimal. In truth,
man 1s mcurably foolish. Sumple things which other anunals easily learn. he 1s mcapable of
learning. Among my experiments was this. In an hour I thought them to be friends with a
rabbit. In the course of two davs I was able to add a fox, a goose. a squirrel and some doves
and finally a monkey. They lived together i peace. even affectionately.

Next. m another cage I confined an Irish Catholic from Tipperary, and as soon as
he seemed tame [ added a Scotch Presbyterian from Aberdeen. Next a Turk from the wilds
of Arkansas: a Buddlust from China: a Bralunan from Benares. Finally, a Salvation Army
Colonel from Wapping. Then I stayed away for two days. When I came back to note
results, the cage of Higher Anumals was all right, but 1 the other there was but a chaos of
gory odds and ends of turbans and plaids and bones and flesh-not a specunen left alive.
These Reasoning Anumals had disagreed on a theological detail and carried the matter to a
Higher court.

Sub questions

Question Number : 196 Question Id : 6116303758 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The writer the view that man is a reasoning animal

Options:

believes in
puts to test

; endorses

proves

Question Number : 197 Question Id : 6116303759 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which deseription of man is Not true according to the author?

Options:



He 15 wise.

He 1s foolish.

L-2

5 He 1s unreasoning.

He 1s incapable of learning.

oS

Question Number : 198 Question Id : 6116303760 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The higher animals referred to in the passage are

Options:

| monkeys

human beings

animals

Led

rabbits

e

Question Number : 199 Question Id ;: 6116303761 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What did the writer find when he went for noting the results?
Options:

All animals dead

Both humans and animals dead.

y Some lower animals and humans dead.

. All humans dead.

Question Number : 200 Question Id : 6116303762 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The “Higher Court” refers to

Options:



-2

the Supreme court

the High court

; the trial court one goes to after death

The jungle court
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